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Pranzo/Soggiol
26,73 m?

Superficie: 26.37+4.00= &

SFin: 2.8*(2.5-0.6) =6.

RA.: 6.37/32.27= 0

SFin min: 32.27/8+((150-10

=4.53mq
5.32>4.53
dis. condom
APT D1 14.73 m2
Came
16,82 n
RA.I=0,

Cucina
13,11 m2
R.A.I= 0,137
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Terrazzo
7,87 m2

518

2,80

Pranzo/Soggiorno

31,59 m?
Superficie:31.39+3.02=34.41
SFin: 2.8%(2.5-0.6)+0.7*1.5=6.37mq
R.A.l: 6.37/34.41=0.185
SFin min: 34.41/8+((150-100)/5)*0.05

=4.80mq
6.37>4.80

5,93

4,57

Camera
15,48 m2
R.A.I= 0,145
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10,52 m2
RA.I= 0,142
S|
D
) 1gderrazzo
Camera ™ 250 279 e,
14,60 m2 ' A
) ™
A oggia
3,68 1,84 m?




